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Proof idea: XPath(—**—)
A ‘simple’ logic ...in ‘Scott Normal Form’
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so that 7 F ¢

There is complete 7 € Der

Der : >[]':

How to compute Der?
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2% many MIN(Profiles) = 2ExpSpace procedure

there is only one dv undera ¢
for every a, there is a b accessible via a ¢ with the same dv

there is a position labeled ¢

abbabcabccccaabcb#
1 2 4 4 3 1 5 1|1fo194 4 5 1 4 CP
R
Atomicy

There are only polynomially many ‘conflicting’ data values.

We can treat them as ‘constants.
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From words to trees

Satisfiability for XPath(*«—, |,,—*) is decidable in 2ExpSpace.*
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Final remarks

thank you!
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